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Question Number : 1 Question Id : 2549896607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The 1s an instance of an executing program.

Options :

1. # dynamic program
2. % static program

3. * binded program
4. ¥ process

Question Number : 1 Question Id : 2549896607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



TS e ersH (executing program) DI UDH JlgRUI gl

Options :

1. % SOAIHS 9o
2. % Wfew U
3. % g8 UuH
4. ¥ 99

Question Number : 2 Question Id : 2549896937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
RAM is and memory.

Options :

1. ¥ volatile, temporary

2. % non-volatile, permanent
3. ¥ non-volatile, temporary

4. % yolatile, permanent

Question Number : 2 Question Id : 2549896937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

RAM 3R TR B
Options :

1. ¢ 3RRR (volatile), SR (temporary)
2. % RRR (non-volatile), R3] (permanent)
3. % @R (non-volatile), SR (temporary)
4. % RRR (volatile), ”ITT (permanent)

Question Number : 3 Question Id : 2549898709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is Primary Storage device?

Options :



1. ¥ ROM

2. % Hard disk

3. % Floppy disk
4. % Magnetic card

Question Number : 3 Question Id : 2549898709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafeiad 7 @ oF 1wt Tk fSasa g2

Options :

1. ¥ ROM

2. % IS fewh
3. % Ul i$%h
4. % TURE FH1S

Question Number : 4 Question Id : 2549898996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of Proprietary Software?

Options :

1. ¥ Windows

2. % Android

3. % Linux

4. % Open Office

Question Number : 4 Question Id : 2549898996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BEINICREE OI’?I"I-FT, WM e daR (Proprietary Software) Bl Ud JalgUl 87

Options :

1. ¢ fda (Windows)




2. % UgISS (Android)
3. % foM&T (Linux)
4. % 3o ey (Open Office)

Question Number : 5 Question Id : 2549899351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is the most widely used audio input device?

Options :

1. % Mouse

2. % Speaker

3. % Microphone

4. % Keyboard

Question Number : 5 Question Id : 2549899351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafad @ 9 S-a1, 999 31 IuanT forar S arern siifsay 3qe fSarza g2
Options :

1. % W39

2. % Wi

3. ¢ TIZHIBH

4. % PEIS

Question Number : 6 Question Id : 25498911565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of device is a computer printer?

Options :

1. %* Input

2. % Output



3. % Software

4. % Storage

Question Number : 6 Question Id : 25498911565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HeR fifex frg UeR o) feaga g2
Options :

1. % gIqe

2. ¥ AITYE

3. % YR

4. ® YSRUT

Question Number : 7 Question Id : 25498911654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The is also known as Visual Display Unit (VDU).

Options :

1. * keyboard

2. % monitor

3. * mouse

4. % scanner

Question Number : 7 Question Id : 25498911654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

& fagerd fewd gfe (vDu) & ®u H 1t ST ST 8|
Options :
1. % DEs
2. ¥ iR
3. % A9



4. % R

Question Number : 8 Question Id : 25498919046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A memory unit is one part of the

Options :

1. #* control unit

2. % central processing unit

3. % input device

4. % output device

Question Number : 8 Question Id : 25498919046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Rt gfe, &1 TS U g |

Options :

1. * St gfe

2. ¢ Hod MR AT
3. % gAYc fearsy

4. % 3f13cyc feargy

Question Number : 9 Question Id : 25498922568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of impact printer?

Options :

1. # Laserjet

2. #* Deskjet

3. % Inkjet

4. % Dot-matrix



Question Number : 9 Question Id : 25498922568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fofefad & ¥ oH-91, Th UHR o1 3Hde fliex 82

Options :

1. % ToRoIC

2. % SLDHuC

3. % gPoic

4. ¢ Sle-Afea

Question Number : 10 Question Id : 25498929862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The barcode that is used by Federal Express, in libraries and blood banks is:

Options :

1. % Codabar

2. % NUMNET

3. % POSTNET

4. % Bookland

Question Number : 10 Question Id : 25498929862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T eXd TaUY, TP # 3R &8 S| gRT ST H o/ S aTel IR&IS & 1H-91 82

Options :

1. ¢ PSR (Codabar)
2. % JHAC (NUMNET)
3. % Qee (POSTNET)

4, % W@(Bookland)

Question Number : 11 Question Id : 25498930077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Laser printers produce marks on paper by using a fine dust called
Options :

1. # reader

2. ¥ toner

3. * sensor

4. % printer

Question Number : 11 Question Id : 25498930077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ToR fliex ITH® HEH Y (fine dust) BT YN HIP HFTST TR =M (marks) T B |

Options :

1. % SR

Question Number : 12 Question Id : 25498930312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A has a gear shift like lever that is used to move the pointer on the screen.
Options :

1. # keyboard

2. % scanner

3. * microphone

4. ¥ joystick

Question Number : 12 Question Id : 25498930312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T®H T AR (lever) Pt e Th R RIte g1 3 FOTIHT ITANT Th 1 WR Ulger Bl ”IMTANRG (move) B3 & foIQ fvar Sirar g |

Options :




1. % BEIS
2. % TR
3. % AIEPHIBH
4. ¢ SIORCH

Question Number : 13 Question Id : 25498930900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A bank's code number and cheque number printed on cheques can be detected by a/an reader.

Options :

1. ¥ OCR

2. * smart card

3. % MICR

4. ® barcode

Question Number : 13 Question Id : 25498930900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

B R BY (printed) §F P HIS 7R 3R A HaR BT Gl SR GRT T S Yha g |
Options :

1. % OCR

2. % WE B8

3.+ MICR

4. *® gRBIS

Question Number : 14 Question Id : 25498931013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the advantage of LCD over CRT?

Options :

1. ® LCD is heavier

2. * LCD is Thicker



3. ¥ LCD produce more heat
4. ¥ LCD offers wider viewing angle

Question Number : 14 Question Id : 25498931013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

CRT &1 QT & LCD T T ATH 87

Options :

1. % LCD YT §

2. % LCD 3% At 8

3. % LCD 3{f% SO ITd Rl ©

4.+ LCD TUS T BIU (viewing angle) & Bl §

Question Number : 15 Question Id : 25498931061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Daisy wheel printing was invented in 1969 by

Options :

1. ¥ Napier’s Bones

2. % David S Lee

3. ® Charles Babbage

4. % Maurice Wilkes

Question Number : 15 Question Id : 25498931061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SOl id [T BT TSR 1969 & SRT fobaT T T |
Options :

1. % AR I
2.« SfasTa
3. % I doof



4. % ARG fachyg

Question Number : 16 Question Id : 2549898924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A is a network security device that monitors incoming and outgoing network traffic and permits or blocks data packets based on a set of security
rules.

Options :

1. # Gateway
2. % Bridge
3. ¥ Router

4. % Firewall

Question Number : 16 Question Id : 2549898924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T ~ead GR&T JUDVI ¢ S 3 aTet 3R &Tex S a1 Aedd efthd b TR BT § 3R JRar faw! & T e & 3R W ST e
I U <dT § 1 (b BTl g

Options :

1. % Tcd

2. % foel

3. ¥ 3R
4. ¥ BIORAId

Question Number : 17 Question Id : 2549899529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Recent Windows operating systems automatically detect the printer when it is connected through the USB interface. This feature is called
Options :

1. * Plug and Uninstall

2. % Plug and Install

3. % Plug and Play



4. % Install and Play

Question Number : 17 Question Id : 2549899529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BTd 81 & faeiel TR Riked, USB $ex%Y & ATHH I e g UR fliex o1 Waiferd U I UdT TTd & | 39 IR &l ERSIGI

Options :

1. ¥ W TS 3[9%Td (Plug and Uninstall)
2. % W U8 S%CId (Plug and Install)
3. TS W (Plug and Play)

4. % I U8 W (Install and Play)

Question Number : 18 Question Id : 2549899618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A laser printer is an output device whichuses  digital printing process to produce high quality of graphics and texts.
Options :

1. ¥ electrostatic

2. * mechanical

3. % mathematical

4. ® robotic

Question Number : 18 Question Id : 2549899618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

oR fliex U 313eye fEargd § St 3o Turad arel Wb e 3R TRe &I Uiegd HR & g fforea fiifem ufsran &1 ST axar g1

Options :

1. 3@3@% (electrostatic)
2. % W(mechaﬂical)

3. % RyRfewd (mathematical)
4. % TP (robotic)



Question Number : 19 Question Id : 25498910872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

LED printers are quite similar to laser printers, but they use instead of laser to create pictures/images.
Options :

1. ¥ Light-emitting diode array

2. % Transducer

3. % Print heads

4. * Lines

Question Number : 19 Question Id : 25498910872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

LED fliex ®T%! 8¢ db doR fliex & IA= gid 8, Afp- d Fem/asfadt s & forw doR & ol BT ST HRA g |
Options :

1. ¢ W3- S8 W

2. % TSR

3. % flicgs

4. % g

Question Number : 20 Question Id : 25498911237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following option of Control Panel in Windows OS is used for changing system sounds?
Options :

1. % Hardware and Sound

2. % Programs

3. % Appearance and Personalization

4. ® Network and Internet

Question Number : 20 Question Id : 25498911237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Windows OS H &eid U9d &1 Fgfafad # ¥ i 11 faded Ried @i dgaq & forg Iugi far Sirar g2

Options :

1. ¢ GIERR TS A¥S

2. % YR

3. % Uy TS UEHeRM

4, % Jcad US Sedc

Question Number : 21 Question Id : 25498913448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Raw file format contains data from the

Options :

1. #* analog camera

2. % printer

3. * microphone

4. % digital camera

Question Number : 21 Question Id : 25498913448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ARG ﬁbl"lsﬂ l4?7\IJ1:T(‘. (Raw file format)ﬁ@?ﬂ%l
Options :
1. % TATART HERT
2. % flie]
3. % HIZHIBIH
4.« T&fea a1

Question Number : 22 Question Id : 25498913511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is compressed file format in a Windows 10 OS?



Options :
1. % rar
2. % doc
3. % bat
4. % rtc

Question Number : 22 Question Id : 25498913511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BEINIECEEES] ﬁq-m [dSIS 10 3NTH (Windows 10 OS) T HUE BIgd Bide (compressed file format) 27

Options :
1. % rar
2. % doc
3. % bat

4. % rtc

Question Number : 23 Question Id : 25498913850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ina attack, the attacker tries to determine the key by attempting all possible keys.
Options :

1. # Dictionary

2. % Brute Force

3. % Birthday

4. % DOS

Question Number : 23 Question Id : 25498913850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A H, gHareR T+t SyTfad HIoTal o1 T FRap dront (HUTRd HR- BT YA dxaT g |

Options :

1. ¥ fSRMR (Dictionary)



2.9 Q\_C’tl'ﬂﬁ (Brute Force)
3. % §U3 (Birthday)
4. % 39 (DOS)

Question Number : 24 Question Id : 25498918514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following files take up less storage space and can be transferred to other computers more quickly than uncompressed files in Windows 10 OS?
Options :

1. ¥ Zipped

2. % Unzipped

3. % Enlarged

4. % Engraved

Question Number : 24 Question Id : 25498918514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafad # 9 o O Bred HH T80 RIM Tl § 3R Windows 10 08 H SIS (Uncompressed) TTE@! &1 qa-T H 0 el # 31fed doll 9
RYTIART BT o il 62

Options :

1. ¢ SIS (Zipped)

2. % &I:Iﬁrlm_s' (Unzipped)

3. % Qﬂ’lﬁ_é (Enlarged)

4. % Was (Engraved)

Question Number : 25 Question Id : 25498922661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the full form of CMOS?

Options :

1. ¥ Continues Metal Oxide Semiconductor

2. # Carbon Metal Oxide Semiconductor



3. % Complementary Metal Oxide Semiconductor

4. % Conditional Metal Oxide Semiconductor

Question Number : 25 Question Id : 25498922661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

CMOS &1 JUiET &1 82

Options :

O

1. % Continues Metal Oxide Semiconductor (ObIrErij\J:ICﬂ 31TO|HI$S S| IObSOECQ)

2. % Carbon metal oxide semiconductor (Eh—lé:f W—M—ﬁm
3. % Complementary Metal Oxide Semiconductor @\ﬁﬁﬁ?ﬂ Acd Gl'\faﬂng @ﬂ:ﬂm)
4. % Conditional Metal Oxide Semiconductor (o'r>s°|=a|-1c1 Hed 31TOPHI$6 @IHnld?dei)

Question Number : 26 Question Id : 25498924095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What is the keyboard shortcut to switch between windows in the same order as they have been opened in Windows OS?

Options :

1. ¥ Alt + Esc

2. % Alt+ End

3. % Alt + Ctrl

4. % Alt + Spacebar

Question Number : 26 Question Id : 25498924095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fISIS 3T (Windows 0S) B! 5 o H Wil a1 8, It A # fdeie & ol {3 & [ o191 widde | g?
Options :

1. ¥ Alt+Esc

2. % Alt+End

3. ¥ Alt+Ctrl



4. % Alt+Spacebar

Question Number : 27 Question Id : 25498924317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the minimum RAM required to install the Windows 10 - 64 bit operating system?

Options :

1. % 512 MB

2. % 256 MB

3. % 6GB

4.¥ 2 GB

Question Number : 27 Question Id : 25498924317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Windows 10 - 64 fore STIRfET Rien & S¥eid B & fore g frat HERT (RAM) B STaTdHdT Bld 82
Options :

1. % 512 MB

2. % 256 MB

3. % 6GB

4.4 2GB

Question Number : 28 Question Id : 25498924462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following options is used to uninstall software from the Control Panel in Windows 11 OS?
Options :

1. % Programs and Features

2. % Personalization

3. % Accessibility

4. % Bluetooth & devices



Question Number : 28 Question Id : 25498924462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Windows 11 0S ¥, Held 0d ¥ Tt dtR B geld d3- & fod fFafafed & 9 oy fawe &1 Iugi fear srar g2

Options :

1. ¢ TR U8 By
2. % THAAISIRHE

3. % TRRfaferd

4. % F¢Y TS fSarsa™

Question Number : 29 Question Id : 25498924597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An LZH file is an archive compressed using ~ compression algorithm.
Options :

1. ¥ Lempel-Zen and Haruyasu (LZH)

2. # Light-Ziv and Haruyasu (LZH)

3. % Lempel-Ziv and Haruyasu (LZH)

4. % Lempel-Ziv and Height (LZH)

Question Number : 29 Question Id : 25498924597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

U LZH BI3d TS TR BT ITUNT B JUifSd U U B

Options :

1. % QUA-oH 3R 89N (LZH)
2. % @ge-fia iR ARy (LZH)
3. ¢ TUA-fUg SR gAY (LZH)

4. % qIW-g IR S8 (LZH)

Question Number : 30 Question Id : 25498940438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following is the very first screen/component that you will see once the Windows operating system has loaded?
Options :

1. # Control Panel

2. % Desktop

3. # Calendar

4. % Calculator

Question Number : 30 Question Id : 25498940438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fdsior sifaefe Ried (Windows operating system) & dre Eﬂef & §1G Jad l-IE§Q-’\I HH-Tt Th /BT ﬁ@'s‘ &t
Options :

1. ® G o a

2. ¥ SWhel

3. % s

4. % HAHAR

Question Number : 31 Question Id : 2549896990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following are the two parts of an email address?

Options :

1. # Username and address

2. % Legal name and phone number

3. % Username and domain name

4. % Initials and password

Question Number : 31 Question Id : 2549896990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fFraffad 7 A -3, fhdl $-7 TgH & <l 1T 82

Options :



1. % JUINTHA! T ATH 3R Tl
2. % QYT AT 3R B 7o’

3. ¢ JUANTSHAT AT 3R SIAH A
4. % IR 3R UNdS

Question Number : 32 Question Id : 2549899075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Web browsers utilise protocol to perform reliable data transfer within a network.

Options :

1. ¥ TCP/IP

2. % HTTP

3. ¥ DHCP

4. % SSL

Question Number : 32 Question Id : 2549899075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

39 SI3SR, Hedd | [AYT-1g ST TAHR B & [og Uicidhld BT STINT HRd & |
Options :

1. ¥ TCP/IP

2. % HTTP

3. % DHCP

4. % SSL

Question Number : 33 Question Id : 2549899179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a Search Engine?

Options :

1. ¥ Bing

2. % Mozilla Firefox



3. * Google Chrome

4. % Netscape Navigator

Question Number : 33 Question Id : 2549899179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

mﬁﬁﬁ-w,ﬁgﬁq@emch Engine)wwmé?
Options :

1. ¢ fe

2. % el BIIRbI

3. % A DI

4. % 9XhY AR

Question Number : 34 Question Id : 25498911977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How many cells will be selected when you select B5 cell, press Shift key, and then click on G9 cell in an MS-Excel worksheet?
Options :

1. % 11

2.9 30

3.% 10

4. % 12

Question Number : 34 Question Id : 25498911977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel FHRITC B SI§ 3T B5 I HI I97 B &, Shift Foit aald 6, 3R R G9 Td W G0 Hd &, d [ I g S
Options :

1. % 11

2. ¢ 30

3. % 10




4. % 12

Question Number : 35 Question Id : 25498919182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an application that allows you to send and receive messages in real-time with others over the Internet?
Options :

1. ¥ Web chat

2. # E-mail

3. % Internet telephony

4. % Internet Protocol

Question Number : 35 Question Id : 25498919182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafead o @ ®F-91 Tl M, 3Mueh! §ex-c R g¥RI & 1Y dRAfae-THg & G ol 3R U 3 B JfaeT a1 82

Options :

1. ¥ 49 d1e

2. % 30T

3. % AT B!
4. % $eAC UKDl

Question Number : 36 Question Id : 25498919213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following MS-Word 2019 features can be used to draw a straight line across the selected texts in a document?

Options :

1. #* Replace

2. % Strikethrough

3. % Format Painter

4. % FEraser



Question Number : 36 Question Id : 25498919213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafead & ¥ ®H-It MS-Word 2019 faRI%dT (WER) &1 IUANT [l Slagiic # gafd cave # T Hieft X1 Wi & forg fovan <1 aahdn g2

Options :

1. # W(Replace)

2. ¥ IYHY (Strikethrough)

3. % BiHe Uex (Format Painter)

4, % W(Eraser)

Question Number : 37 Question Id : 25498924652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to make text bold in MS- Word 2019?

Options :

1. % Alt+B

2.% Ctrl + B

3. % Shift + B

4. % Tab+B

Question Number : 37 Question Id : 25498924652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS- Word 2019 H, THRe & dics B & ol g & T forg 1-a1S 2icpe BT IuTnT fovdn ST g2
Options :

1. ® Alt+B

2.% Ctrl + B

3. % Shift+B

4. % Tab+ B

Question Number : 38 Question Id : 25498924838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



To convert text into a table in MS-Word 2019, goto  tab, then select 'Convert text to Table...' option in Table command.
Options :

1. ¥ Home

2. ¥ Insert

3. ¥ Review

4. % Layout

Question Number : 38 Question Id : 25498924838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 HeRe Bl eqa Hdge b fag,  ed R WY, fhr 29 s § 'ad eRe ¢ oad... fadweu g |
Options :

1. % E-Tq(Home)

2.9 W(Inser‘[)

3. % R (Review)

4. % 33T (Layout)

Question Number : 39 Question Id : 25498925239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How to refer 'Cell B2 on Sheet2' in an MS-Excel 2019 worksheet?

Options :

1. ¥ =Sheet2!B2

2. ¥ =B2!Sheet2

3. # =ISheet2B2

4, % =Sheet2B2!

Question Number : 39 Question Id : 25498925239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 il # 2ffler IR A a2 &1 Heu (Reference) Y

Options :



1. ¥ =Sheet2!B2
2. ¥ =B2!Sheet2
3. % =ISheet2B2
4. % =Sheet2B2!

Question Number : 40 Question Id : 25498925277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the size of a MAC address?

Options :

1. # 64-bits

2. % 32-bits

3. % 48-bits

4. % 16-bits

Question Number : 40 Question Id : 25498925277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MAC U9 &1 T3S 18Il 82
Options :

1. % e4fac
2. % 3¢
3. 48-fd¢
4. % 16fqc

Question Number : 41 Question Id : 25498925338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In MS-Word, landscape means the page is oriented

Options :

1. % horizontally

2. % vertically



3. #* diagonally

4. % upside down

Question Number : 41 Question Id : 25498925338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word ﬁ, a@@q GRS Qf % fo U 3HY (Oriented) % |

Options :

1. ¢ afast @eli<a)
2. % JegTER (Gefdha)
3. % fowula: (STaTHa)

4. % Il (3OS S B13H)

Question Number : 42 Question Id : 25498933793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
means receiving data or a file from the Internet on your computer.
Options :
1. ¥ Downloading
2. # Uploading
3. % Connecting
4. % Scheduling

Question Number : 42 Question Id : 25498933793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

&1 312 § 3P SR W Fe3Ac § ST U1 HIed U BT

Options :

1. ¢ SI3TAISTT
2. % SIS
3. % AR



4. % QST

Question Number : 43 Question Id : 25498938410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How many cells will be selected when you select C9 cell, press CTRL key, and then click on A1 cell in an MS-Excel worksheet?
Options :

1. % 27

2.92

3.% 12

4. % ]

Question Number : 43 Question Id : 25498938410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel F®RITe & 9§ 31T €9 T BT 99 Hd 8, CTRL Hoil Gad g, 3R R Al T WR faee &d g, df fbd Id g s
Options :

1. % 27

2.9 2

3.% 12

4. % |

Question Number : 44 Question Id : 25498942487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If you enter 205 in a cell in MS-Excel, then the data type is

Options :

1. % numeric

2. % alphanumeric

3. % date
4. % hyperlink



Question Number : 44 Question Id : 25498942487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel #, afe g1 forft a1 & 205 Ufay #vd €, dl SeT1 218y HGIE
Options :

1. ¥ gAR®

2. % BgARD

3. % 8¢

4. % BRWRId®

Question Number : 45 Question Id : 25498942491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A visual representation of data from an MS-Excel worksheet is known as a

Options :

1. % chart

2. % table

3. % pivot table

4. % reference

Question Number : 45 Question Id : 25498942491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel GHRITC ¥ ST BT TATHD RN (visual representation), & ¥Y H SH ST g |
Options :

1. dre

2. % ¢qd

3. % fUqc ¢ad
4. % TG

Question Number : 46 Question Id : 25498942512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following keyboard shortcuts is used to open a new MS-Excel 2019 workbook?
Options :

1. % Ctrl +S

2.% Ctrl + N

3. % Ctrl + Q

4. % Ctul+V

Question Number : 46 Question Id : 25498942512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T3 MS-Excel 2019 Ghgd WA & fore Fgfeiad & T fog Siars Wicae BT IUTNT faa it 82

Options :

1. % Ctrl +S
2.% Ctrl +N
3. % Ctrl + Q
4. % Cul+V

Question Number : 47 Question Id : 25498942516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to underline characters in an MS-Excel 2019 spreadsheet?
Options :

1. % Ctrl +1

2. % Cul+B

3. Cul+U

4. % Ctul+V

Question Number : 47 Question Id : 25498942516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 TSN H, Hyaed Bl 3eIdTs B & foe Fufafad #§ 3 {59 slas iche o1 ST foedr Srdr g2

Options :



1. % Ctrl +1
2. % Ctrl +B
3. Ctrl + U
4. % Ctrl +V

Question Number : 48 Question Id : 25498942532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a software program that searches for, retrieves, and presentations material which includes Web pages, photos, videos, and different
files?

Options :

1. ¥ Web browser
2. % Website

3. % Web Client

4. % E-mail

Question Number : 48 Question Id : 25498942532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafiad & § &9 91 U AIaedaR URiH ¢ o 99 U, Ticl, difsal ok fafid Bl aied Irsh &1 @ierdl 8, T: U $HRdT § 3R URdd Bl 87
Options :

1. ¢ 99 SR

2. % d99IEC

3. % dd HAlsC

4. % 30

Question Number : 49 Question Id : 25498942536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Deepak is a Grade V student. He wants to prepare a chart of the population in four cities which shows data points as a percentage of the whole. Which of
the following charts/graphs of MS-Excel 2019 should he use, as it is a single series of data?

Options :



1. ¥ Pie chart

2. * Bar chart

3. ¥ Line graph

4. % Column graph

Question Number : 49 Question Id : 25498942536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SIud Fef uid o1 faamf § | 98 IR ERI &1 SHERe &1 T dIC daR AT 9184l 5, forad ST figaf &1 guf (whole) & Ufi=Id & U H fa@man T
EPH @Wéﬂa’ﬁwm(series) %,?‘ﬁ@MS-Excel 2019 %ﬁaﬁr@aﬁ@r%aﬁwrwﬂnmm@?

Options :

1. OTs @1
2. % gRATC
3. % Q89 UH
4. % PHIH UH

Question Number : 50 Question Id : 25498942538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following in MS-Excel are visual representations of data used to make it more understandable?

Options :

1. % Charts

2. % Tables

3. % Macros

4. % Annotations

Question Number : 50 Question Id : 25498942538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel # FAfif@d & @ SIH-91, 3T &1 TS AU (visual representation) 8 ST SUUNT 38 31f¥ieh THgM U1 g9 & foru favdm Sirar g2
Options :

1. ¥ 91cd




2. % o9
3. % AN
4. % MY

Question Number : 51 Question Id : 25498942557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number system that uses only two digits, 0 and 1 is called number system.

Options :

1. ¥ binary

2. % octal

3. ¥ hexadecimal

4. % decimal

Question Number : 51 Question Id : 25498942557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g8 TS JUTTel St had Gl 3fehl, 0 3R 1 BT ITUNT el g, TS YUMol HEar gl
Options :

I ACIEGE]

2. % 3ffacd

3. % gARITSRHd

4. % 3OHA

Question Number : 52 Question Id : 25498942561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The given picture is an example of a chart in MS-Excel 2019.



EAST ASIA SALES

[5]1:81

QiR2 QTR 3 OTR4

H East Asia sales 2022 M East Asia Sales 2023

Options :
1. # pie
2. % column
3. # line

4. % cone

Question Number : 52 Question Id : 25498942561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

& TS TRAR MS-Excel 2019 & ¢ BT TP IR0 3|



EAST ASIA SALES

[5]1:81

QTR 2

H East Asia sales 2022

Options :

1. % U8
2. ¥ HIaH
3. % @A
4, % D

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :
Maximum Instruction Time :

QTR 3 QTR 4

M East Asia Sales 2023

READING COMPREHENSION
2549898489
2
Online
Mandatory



Sub-Section Number : 1
Sub-Section Id : 2549898530
Question Shuffling Allowed : No

Question Id : 25498921349 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Long ago in a village in Japan, there lived a bird catcher called Gombe. During the cold winter months when the water froze in the lakes, flocks of wild
ducks came flying everyday in search of worms and small fish.

One day Gombe thought,"How foolish I am to stand for hours in the freezing cold every day to catch a duck or two! Oh, it would be wonderful if I could
catch a hundred ducks in a single day! I could earn so much money by selling them that I would not need to work for the next ninety nine days.

So, the next day Gombe took many lengths of rope and made slip-knot traps at the end of each one. If the ducks stepped over these traps, a pull...a tug...and
they would all be caught. Just then one duck stepped over the trap and fell over flapping its wings. Another duck flew down, caught its leg in the trap and
tumbled. Then another came waddling and was caught too. One after the other, flippity flip, quackity quack....ducks fell into Gombe’s trap. "Wonderful!

Fantastic!" cried Gombe in joy. "One, two, three....nine...twenty....thirty-six...forty-five," counted Gombe in delight. "I will pull the ropes only when there
are a hundred! Then I will eat, drink and enjoy for ninety nine days."

As more and more ducks were caught, Gombe danced and jumped with joy. "Sixty-six...seventy, eighty-five...ninety-nine," he counted. Oh no, just one short
of a hundred! Shivering with cold Gombe stamped his feet and rubbed his hands, "I will wait till I catch one more." But the last duck didn’t come.

Suddenly, there was a loud sound, ‘quack quack , quackity-quack’! The ninety nine ducks tugged hard at the ropes caught around their feet. Then all at once
they gave a final pull at the ropes and took off into the sky! There was a loud beating of wings as all the ninety nine ducks flew off together. Poor Gombe
who was holding on tightly to the ropes rose into the air with the birds. He struggled hard to hang on as he was carried up, up and away into the sky!

Sub questions

Question Number : 53 Question Id : 25498921350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who was Gombe?
Options :

1. * A bird watcher
2. % A bird catcher

3. = A bird lover



4. % A bird tamer

Question Number : 54 Question Id : 25498921351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Gombe wanted to catch a hundred ducks together so that:

Options :

1. # he could enjoy a grand feast

2. # he could become very rich

3. % he could live ninety nine days without work
4. % he could play with the birds

Question Number : 55 Question Id : 25498921352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Gombe caught the birds by:

Options :

1. ¥ chasing them

2. # pouncing on them

3. ¥ throwing a net

4. ¥ making slip-knot traps

Question Number : 56 Question Id : 25498921353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How did the ducks escape?

Options :

1. ¥ By cutting the ropes

2. % By beating their wings

3. ¥ By flying away with the ropes

4. % By tugging hard at the ropes

Question Number : 57 Question Id : 25498921354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Which of the following options gives the correct sequence?

a. The ducks pulled hard at the ropes

b. One by one the ducks fell into the traps

c. Gombe waited for the hundredth duck

d. They flew off together carrying Gombe with them

Options :
1. % badc
2. % dacb
3. % bcad
4. % abcd

Question Id : 25498921349 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
3T T 7RI B UG TR I SMYR W Ui & IR ¢

Sgd I Usd WU & Ueb 71id H, Tl A T Sgierdl gl o1l |iddl & FeiHl # ofd Sfiall § Url S SIrdT of, STell Sl & s ox Aol it 3R Bict Aol &1 qensy §
ISd §U J81 3M1d 3|

TS o M 3 T, < oo 0 § 6 & &R o gt War $8 & U SauR A & o1 U I1 &l 9od &1 Uhs UTdl ! fara o1 81, afe & uep fom o O s b
135! H I8 SR a1 U1 1 & b g 3rTat FAare femf o 1 e &t orevd et gt

3T foT TS 7 9gd I} ARt off SiR 39 T+t T el B b aTell Gewb! TS SR Uh oITdl 7 fordm| 3 o U o7 o 39 R afe s U aR Uig 3@ af a8 U
edh T ST § I Gl I | I+ T S0 A Sd IR HeH @7 3R 307 T B STd gU 98 offd § IR TS| U SR ga9 +1d R, 39! ot R I1a & vy T o1 39
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S-S SR S o o Thyt TS, T R § Aree 3R de @ fSae . IR, TR . FRaee ) 39 T oR T8, O ¥ $ad U B! 38§ Higar gt T WY o
3R Fp1 3R 30 BT B F, T 3R TG BEA dP SAGR BT § |1* b SRR g a1 3|

3EHH, SR T T TS 3T3- BT HIh, HIH-HIH'! e Fod WY & e Il W forged @ft| bR It 3 sremes ARt & 3o R § wOd ShsT 3R UEl Y aw
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SWR IS T 1!




Sub questions

Question Number : 53 Question Id : 25498921350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TS DI Y12

Options :

1. % U geft g=ff

2. ¢ U Sgler

3. % TS Ught Uyt

4. % Ueb Ueft Urer arell

Question Number : 54 Question Id : 25498921351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e A ST THITY o} U g1 g dl Y12

Options :

1. % Qlfds 98 Ueh U GTad &l 3T o b

2. % qIfds 98 9gd 3R 99 b

3. ¢ Tl 98 FA=IHa a1 b fom1 1 fhd SR T &1 b
4. % dIfc> Ig Ufarl o 91y Wl Gob

Question Number : 55 Question Id : 25498921352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e 3 99! BT HY UHSI?
Options :

1. % 391 U1 b

2. % IR IFA PR

3. % ST hhdx

4. ¢ B! TMB] DI SITe FATDR




Question Number : 56 Question Id : 25498921353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IO A WY B HY T
Options :

1. % G HIehr

2. % T hahaldmr

3. IR & 1Y ISP

4. % I IR Aol Y RRgea

Question Number : 57 Question Id : 25498921354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

39 fashed o1 99 Siforg fored Y aradt o1 98t s fear g
a. O A G} Bl HIYB 30 R A SIH ST

b. Th-Th HIb S ol H Tl T3

c. TS = TidT g9 T vk foan

d. TG T T 1Y AR IS TS

Options :

1. % badc

2. % dacb

3. % Dbcad

4. % abced

QUANTITATIVE APTITUDE

Section Id : 2549898490
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 6



Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898531
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sonika invested an amount of 5,800 for 2 years. At what rate of compound interest (compounded annually) will she get an amount of ¥594.50 at the end of
2 years?

Options :
1. ¥ 5%
2. % 4%
3. % 6%
4. % 8%

Question Number : 58 Question Id : 25498928813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

QfeeT A 2 Iu o T 25,800 W1 AT BT o fordT | Ishdfa oS &t fhd &R (@ &0 F FAIford) TR 39 2 I8 & 3fd T 2594.50 Pt R et

Options :
1. ¥ 5%
2. % 4%
3. % 6%
4. % 8%

Question Number : 59 Question Id : 25498928968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the least number that can be added to the number 1020 to make it a perfect square?



Options :
1. % 59
2. % 65
3.4
4. % 12

Question Number : 59 Question Id : 25498928968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1020 F 90T 337 §a1 & v frw waq o1 FEar & S5 S T g2
Options :
1. % 59

) % 65

3. 4

4. % 12

Question Number : 60 Question Id : 25498929055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What will come in place of the question mark (?) in the given number series?

264 262 271 243 308 ?
Options :
1. % 216
2. % 163
3. % 194
4.9 182



Question Number : 60 Question Id : 25498929055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafaf@a e y@en § geaReEd (?) & T W FaT A7

264 262 271 243 308 7
Options :

| % 216
, % 163
s % 194

4 v 182

Question Number : 61 Question Id : 25498929125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A container has 60 litres of a mixture of milk and water in the ratio of 3 : 2. How much water should be added to the mixture so that the ratio changes to 2 :
3?

Options :
1. % 20L
2.930L
3. % 35L
4. % 40L

Question Number : 61 Question Id : 25498929125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

T 9 H gy AR 9 # 60 ey AT 3:2 F e A 21 Heor # G o femar sme &
0T 7 A 2:3 & S
Options :

| % 20 #rReT
5« 30 &
3 % 35 #eT

4. % 40 =MeT

Question Number : 62 Question Id : 25498929540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What annual equal payment will discharge a debt of 325,220 due in 3 years at 5% per annum compounded annually?

Options :

1. ¥ 39,261

2. % 39,216

3. % 38,470

4. % 38,407

Question Number : 62 Question Id : 25498929540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

325,220 B! AT IUR T S &, FORIBT YA 5% TN Tehgfa o1 Bt e J 3 T H BT g | UAD e &bl UM MY J1d HifoTa?
Options :
1. ¥ 39261




2. %#.39.216
3. % 38,470
4. ® 38,407

Question Number : 63 Question Id : 25498929610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For an arithmetic progression a,, @,., .... @s4. if @; + a5 + a4 + a;5 + @59 + Ay, = 225, then the sum of the
progression is:

Options :

L% 400

L % 450

800

4 900

Question Number : 63 Question Id : 25498929610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TATR ALY ay, a, ... ayy, & O, AR @y + ac + ayp + Ay + age + Ay = 225 &, A ST 1 AT A
HIfaw|

Options :
| % 400



5 % 450

, % 800

4 v 900

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549898491
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6

Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898532
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'Shoes' is related to 'Cobbler' in the same way as 'Eyeglasses' is related to ' "
Options :

1. * Oculist

2. % Ophthalmologist

3. % Optometrist

4. ¥ Optician



Question Number : 64 Question Id : 25498910155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sd &1 W § 98] GeY g, off a=H &l gl
Options :

1. ® Jigfore

2. % ST

3. % 3ffpfee

4. 3BIREA

Question Number : 65 Question Id : 25498912936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Each of the letters given below has been assigned a unique number. Select the combination of numbers such that the corresponding letters when arranged
accordingly will form a meaningful word.

ACESTH
123456

Options :

1.92,6,1,4,5,3
2.% 4,3,5,6,1,2
3.%6,1,4,5,3,2
4. % 6,3,2,1,4,5

Question Number : 65 Question Id : 25498912936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2 fou T ude 31erR & forw v fafRry Trem fAfdse o 718 |1 TReamait & U WO &1 T B 8 W 31eR B de9R SIafyd e’- IR U I1ifds e
|

ACESTH
123456
Options :

1.¥2,6,1,4,5,3



2.% 4,3,5,6,1,2
3.%6,1,4,5,3,2
4. % 6,3,2,1,4,5

Question Number : 66 Question Id : 25498918999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words and hence belongs to the same group.

Grandfather : Father : Brother
Options :

1. #* Son-in-law

2. % Son

3. # Father-in-law

4. % Baby

Question Number : 66 Question Id : 25498918999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Wﬁ@%mqﬁqﬁ@mﬁ%%%m%sﬁ?mmwﬁw%l
m:m:lﬂg

Options :

1. % QIHI

2.9

3. % YR

4. % frg

Question Number : 67 Question Id : 25498919897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.

Options :



1. * Skull
2. ¥ Appendix
3. ¥ Pelvis

4. * Fibula

Question Number : 67 Question Id : 25498919897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Q@ga! (Skull)

2. ¢ ORRINHT (Appendix)
3. % HifOr (Pelvis)

4. % SIESII®T (Fibula)

Question Number : 68 Question Id : 25498940050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the word-pair in which the two words share a different relationship from that shared by the two words in the rest of the options.
Options :

1. ¥ Pelican : Reptile

2. % Gnu : Antelope

3. % Elk : Deer

4. % Shark : Fish

Question Number : 68 Question Id : 25498940050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Ul : TR
2.33}1:@@'5[




3. % T : fgvum
4. % QP . A3

Question Number : 69 Question Id : 25498940087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Four numbers have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. % 2345

2. % 3456

3. ¥ 5467

4, % 5678

Question Number : 69 Question Id : 25498940087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 2345

2. % 3456

3. % 5467

4. % 5678

GENERAL AWARENESS

Section Id : 2549898492
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6



Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898533
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In which state of India is Mawsynram, known to be (as of 2019) the wettest place on Earth as per the Guinness World Records authority, located?
Options :

1. ¥ Meghalaya

2. % Sikkim

3. % Uttarakhand

4. % Himachal Pradesh

Question Number : 70 Question Id : 2549895301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. AUy
2. % Ryfdmn
3, % IWRES

4. % fgOTEQ Uew

Question Number : 71 Question Id : 25498912544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct?



1. Biodiversity is normally greater in the lower latitudes as compared to the higher latitudes.

2. Along the mountain gradients, biodiversity is normally greater in the lower altitudes as compared to the higher altitudes.
Options :

1. * Only 1

2. % Only 2

3. % Both 1 and 2

4. % Neither 1 nor 2

Question Number : 71 Question Id : 25498912544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafofed 7 ¥ o9 3 Sy Ig 82
1. oia fafaear ot sref=i &t o & g srerf=i & 3if¥es urs Sl 3|

2. 919 fafaear Qrmmad: S Si&i=N Bt g | Udaid eral & 7 sfefi=i & it urg ot g
Options :

1. % $ad |

2. % $Hdd 2

3. 1 3R 2 gl

4. % a1 3RAE 2

Question Number : 72 Question Id : 25498912558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which method of water purification does NOT kill microorganisms?

Options :

1. ¥ Boiling

2. % Filtration

3. % Chlorination

4. ® UV-irradiation



Question Number : 72 Question Id : 25498912558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks :
w@wﬁﬁuﬁﬁ%ﬂméﬁmwﬁaﬁ%?

Options :

1. % IqTeH

2. ¥ B

3. % FAIRAIBRUT
4. % UV-[adR

Question Number : 73 Question Id : 25498922843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ascariasis is an infection of the

Options :

1. #* tonsils

2. % small intestine

3. # liver

4. % heart

Question Number : 73 Question Id : 25498922843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BRI (ascariasis) o g arer T YhHUT % I

Options :

1. % TeqigH
2. BIct 3fd

3. % g
4. % gaU

Question Number : 74 Question Id : 25498932432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Who among the following pioneered the social and religious movement of the 19th Century in India?
Options :

1. ¥ Ram Mohan Roy

2. % Dayanand Saraswati

3. ¥ Swami Vivekanand

4. % Aurobindo Ghosh

Question Number : 74 Question Id : 25498932432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ IH HigA g
2. % g IR
3. % Wl fag@re
4. % 3RfdgI Oy

Question Number : 75 Question Id : 25498932582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct?

1) Article 20 of the Constitution of India states that no person can be convicted for any offence except for the violation of law in force at the time of the
commission of the act charged as an offence.

2) Article 21 of the Constitution of India state that no person shall be deprived of his life and personal liberty except according to procedure established by
law.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2



4. % Neither 1 nor 2

Question Number : 75 Question Id : 25498932582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % $ad |

2. % Had 2

3.9 1 3R 2GHI

4.% A1 ARAE 2
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Group Number : 2
Group Id : 2549895319
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0

English Mock



Section Id : 2549898493
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898534
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498946188 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork, socializing,
decision making, independent and responsible living and more. It aids the overall development of a child and children have fun during this process

as they get to explore new arenas.
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English Actual
Group Number : 3
Group Id : 2549895320

Group Maximum Duration : 15



Group Minimum Duration : 15

Show Attended Group? : No
Edit Attended Group? : No
Break time : 3
Mandatory Break time : Yes
Group Marks : 0

English Typing Test

Section Id : 2549898494
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898535
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 77 Question Id : 25498942568 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

A search engine is a tool used to find data based on a particular input. Web search engines are one example where you can enter a word or phrase
to find web pages that match those terms. Not every web search engine works the same way. Most of them are crawler based. It means that they
actively seek the web for pages to add to their index. The search engine is what you use to quickly lookup information from the index and display
the results on the page. Search engines are the primary method for browsing the web and there are many different kinds that are built for finding
specific information. Within each search engine are often advanced search options that are used to focus your search better and help you find what
you're looking for. Search engines automatically create website listings by using software often called spiders or spiderbots. These spiderbots crawl
web pages. They follow a link of site to other pages and index the information in the process. The crawler bots behind the search engine scour the
web not only by jumping from one link to the next but also by checking each site for a robots text file. This file contains a listing of which pages on
the site a search engine should crawl. This is one way website owners can block a search engine from indexing a particular page. Software spiders



return to pages that have already been crawled on a pretty regular basis to check for updates and changes. Everything they find goes back into the
search engine database. Every search engine is different. But the common idea with all of them is to type something into a search box and wait for
the results. Some search engines also have a reverse search option that lets you browse the web with something other than text. They can search a
sound clip or picture file. Many search engines include extra features beyond just a simple search box. They let you interact with the index using
special text commands or buttons that can filter the results and remove items that are not relevant to what you are looking for. Lots of search
engines exist and the one you choose to use should depend on what you want to do with it. Web page search engine are often multi purposed. They
locate all sorts of data from general web pages and news to help documents. Image search engines search for photos and drawings. Video search
engines find all kinds of videos and live streams. People search engines locate people on the internet using their name and address. A regular search
engine that's optimized for searching and displaying results on a smaller screen are called mobile search engines. Job search engines are designed
to find job postings. Invisible web search engines are the tools that browse the invisible web. There is no need to manually update a search engine so
that you are getting the most updated results in your searches. If you are seeing really old results that you suspect should be updated. But actually
you might just need to clear the cache of browser. Search engines do not search the entire web. There are portions of the web that are not crawlable
by a search engine.
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